NCERT Solutions for Class 8 Maths Chapter
10 Algebraic Expressions and ldentities Ex 8.4

Ex 8.4 Class 8 Maths Question 1.
Multiply the binomials:

(i) (2x + 5) and (4x - 3)

(i) (y - 8) and (3y - 4)

(iii) (2.5 = 0.5m) and (2.5] + 0.5m)
(iv) (a+ 3b) and (x + 5)

22

(v) (2pg +3q)and (3pq - 2q)
3

2.2
222 3
(vij(a+3b)and4(a-b)
4
Solution:

(i) (2x + 5) x (4x — 3)

=2xx (4x = 3) + 5 x (4x — 3)

= (2x x 4x) — (3 x 2x) + (5 x 4x) — (5% 3)
2

=8x - 6x+20x - 15
2

=8x+14x - 15

(i) (y — 8) x (3y — 4)
=yx(3y—-4)-8x(3y-4)
=(yx3y) - (yx4) - (8x3y) +(-8x-4)
2
=3y —4y - 24y + 32
2
= 3y - 28y + 32

(iii) (2.5 = 0.5m) x (2.5 + 0.5m)

= (2.5l x 2.51) + (2.5 x 0.5m) - (0.5m x 2.5]) — (0.5m x
0.5m) 22

=6.251+1.25ml - 1.25ml - 0.25m

22
=6.251+0 - 0.25m

22
=6.251 - 0.25m

(iv) (@a+3b) x (x + 5)



=ax(x+5)+36x(x+5)
=(@axx)+(ax5)+(36xx)+(36x5)
=ax+ 5a+3bx+15b

22
(v) (2pq +3q) x (3pg —2q)
222
=2pgx(3pq-2q)+3q(3pg-2q)
2222

=(2pq x 3pq) - (2pq x 2q ) + (3 x 3pq) — (39 x 2q)

22334
=6p q - 4pq+9pq - 6q

2234
=6p q+5pq - 6q

{wi) [%aﬂ + 3&3] X 4(::2 - gbz]

= [gaz + 3&2]1[4u2 - ghg]

= Eu"‘! x(-'-lf.rE —ﬁbﬁ]
4 3

2
- [%aﬂ % juz]—[%uzx i’ ba]
+ (3b° xda?i—[EbE » %FJE]

= 3at- 2a%b? + 12072 - 8b4
= 3a + 10a%h® - 8b*

Ex 8.4 Class 8 Maths Question 2.

Find the product:

(i) (5-2x) (3+x)

(ii) (x + 7y) (7x —y)
22
(ii)(@a+b)(a+b)
22
(iv)(p-a)(2p+0q)
Solution:
(i) (5-2x) (3+x)
=53 +x) — 2x(3 + x)
=(5x3)+(5xx)—(2xx 3) — (2x x Xx)
2
=15+ 5x — 6x — 2X

(i) (x +7y) (7x - y)



=x(7x = y) + 7y(7x - y)

= (xx7x) = (xxy) + (7y x 7x) = (7y x y)
22

=7x —xy+49xy - 7y
22

=7x +48xy — 7y

22

(iiy(@a+b)(a+b)

222
=a(a+b)+b(a+b)

2222

=(axa)+(axb)+(bxa)+(bxb)3

223
=at+ab+ab+b

22
(iv)(p—q)(2p+aq)
22
=p(2p+q9)-q(2p+q)
2222
=(px2p)+(pxq) - (qx2p)-(qxq)32
23

=2p+pq-2pg-q

Ex 8.4 Class 8 Maths Question 3.

Simplify:

2
(i) (x=5) (x+5)+25

23
(i(@+5)(b+3)+5

22

(i) (t+s) (t-s)
(iv)(a+b)(c-d)+(a—b)(c+d)+2(ac+

bd) (v) (x +y) (2x +y) + (x +2y) (x —y)
22

(Vi) (x+y)(x = xy +y)

(vii) (1.5x — 4y)(1.5x + 4y + 3) — 4.5x +

12y (vii) (@a+b+c)(a+b-c)

Solution:
2
(i) (x=5) (x+5)+25
2
=X (x+5)+5(x+5)+25



32
=X+5x—-5x—-25+25

32
=X+5x—-5x+0

32
=X+ 5x — 5x

23
(il(@+5)(b+3)+5
233
=a(b+3)+5b+3)+5
2323
=ab+3a+5b+15+5
2323
=ab+3a+5b+20

22

(i) (t+s)(t-s)

222
=tlt—-s)+s(t-s)

3223
=t-st+st-s

3223
=t+st-st-s
(iv) (@+b)(c —d) + (a = b) (c +d) + 2(ac + bd)
=a(c-d)+b(c-d)+a(c+d)-b(c+d)+2ac+ 2bd
=ac —ad+bc - bd+ac+ad-bc-bd+2ac + 2bd
=ac+ac+?2ac+bc—-bc-ad+ad-bd-bd+2bd
=4ac+0+0+0

= 4ac

(V) (x+y) (2x +y) + (x +2y) (x - y)

=X(2x +y) +y(2x +y) +x(x —y) + 2y(x ~y)
2222

=2X+ Xy +2Xy +y+ X — Xy +2xy — 2y
2222

=2X+ X+ Xy +2Xy — Xy +2xy +y — 2y
22

=3x+4xy -y

22
(Vi) x+y)(x —xy +y)
2222
=X(X—xy+y)+y(x—xy+y)
322223
SX—XY+XYy+Xy—Xy+y
33
=x—-0+0+y
33



:X+y

(vii) (1.5x = 4y)(1.5x + 4y + 3) — 4.5x.+ 12y

=1.5x (1.5x + 4y + 3) — 4y(1.5x + 4y + 3) — 4.5x + 12y
22

=2.25x + 6xy + 4.5x — 6xy — 16y — 12y — 4.5x + 12y
22

=2.25X + 6xy — bxy + 4.5x — 4.5x + 12y — 12y — 16y
22

=2.25x+0+0+0 - 16y
22

=2.25x — 16y

(vii)(@a+b+c)(@a+b-c)

=ala+b-c)+b@a+b-c)+cla+b-c)
222

=a+ab-ac+ab+b-bc+ac+bc-c
222

=a+ab+ab-bc+bc-ac+ac+b-c
222

=a+2ab+b-c+0+0
222

=a+2ab+b-c



